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The ruler of Punjab during first and second Anglo-Sikh wars was -

a) Ranjit Singh b) Dalip Singh ¢) Diwan Mulraj d) None of these
ufT@ w3 eFy AeE- Ty gu 996 UATE € AN A

gy IEH b) eBY Y o) ees ymam ) fegt fe aET &
‘Kamagata Maru’ was the name ofa:

a) hill b) aeroplane ¢) train Ay Ship
FTHTIITET H'g &1 HT

a) UWa'g b) J=TE HIH ¢) I8 I3t d) Fyedl A
Which of the following sets of princely states are termed as Phulkian States ?

a) Patiala, Malerkotla, Nabha &7 Patiala, Nabha, Jind, Kapurthala

b) Patiala, Jind, Malerkotla d) Patiala, Jind, Nabha

fegt feg faagmt forA3T T AYT SBATHT IH = ArfemT gter § 2

a) UfemrsT, y8adesT, e ¢) UfernmaT, &re, e, TyTEsT

b) ufemrsT, Hie, HBJIa ST d) ufemrsr, e, 5197

The title of ‘Punjab Kesari’ was conferred on :
a) Ranjit Singh b) Bhagat Singh ¢y Lala Lajpat Rai d) Sardar Baldev Singh

Uy IReT e fuyzme fan § yers dis famim 2
a) ITHIS A b) Fos fRw c) BBFFHUI TE  d) AIE'd B fHw

Who is known as the father of Punjabi novel ?

<) Nanak Singh b) Balwant Gargi ¢) Gurdial Singh d) Gurmukh Singh
Ut 5728 €T fugr fan § fagr arer 3 2

a) &7ad s b) TB<I araait c) IFfems fiw d) IenY iy
When did the British annex Punjab ?

a) March 1849 b) March 1848 c) August 1947 d) April 1837
fafer & (7™ § a2 W2 few wrivs sitgr 7

Ay HTIY 1849 b) 9T 1848 ¢) MIAI 1947 d) s 1837

Which of the following battle is known as the ‘Battle of Guns’ ?
a} Battle of Sobraon  b) Battle of Mudk; ¢) Battle of Chillianwali d) Battle of Gujarat

I3 fendtnit Bareinit e foaaelt mamet ¢ g ot et @ o7 o e AT Y ?
a) Ag9™ &1 Bl b) ¥eat & mgmwt C)Wm;ﬁm d) IHETI & mIE

Which animal was worshipped in the Kuka Movement ?

9) Cow \}’) Horse c) Sheep d) Ox
A HEES 99 0 AR § ufsowr e 5t 7
a) 919 b) Wrgr o 79 d) 58T

Page- 2 . [Paper-lll  (Set-A)



10.

11.

12.

13,

14,

1s.

16,

Of PEPSU at the ¢ fi
aé/yadavindra Singh b) Taoas ime of its creation in 1948 ?
agatjit Sin o o
1948 fe9 Tuy & A foy e ] “c) Gian Singh Rerewale d) Raghbir Singh
2) wrEfeEaT finy STIH-YHY dT A/ ?

b) WIS iy ¢) famrs fiw ade® d) sweie fing

‘Sanghol’, associated i
With the Inqys Valley Civilization, is in the district of :

a) Patiala b) Ludh

dhiana o R Fatehgarh Sahi
ﬁg(mdus)wa%mmmmhﬁggg? ) Fatehgarh Sahib
a) Ufenms b) Tfprar ¢) FUETT ) st sl

ich of the follow] ,
e ellowing ornament is not worn by women of Punjab on forehead ?

Dumni
?) um _ b) Barwata <) Mauli d) Kaska
et yiemma ferggt kﬁfaﬂ?ﬁlﬁwnﬁ@@mm@e’r 7
8) BT b) "aTTer c) Wt d) ImaT
Which of the following is not a folk song of Punjab ?

2) Mahia ) Suhag ¢) Ludi d) Tappey
fegt fed' faoar 8 afte taw s wefog st7

a) HIhT b) FIar “¢) Bt d) 2¥
Gugga Naumi Fair is held in the month of :

a) Sawan b) Jeth c¢) Bhadon &1 Phagun
I St e AT faod Wd BT I 7

2) @ b) 75 c) I d) Sar=
Rauza Sharif Urs is celebrated at which of the following places ?

&) Malerkotla b) Sirhind ¢) Qadian d) Jagraon
o) TS b) A ) e B Fog
Where is the * Gadri babian da mela’ held ?

_ Jandhar ¢) Malerkotla d) Sirhind
a) Ludhiana /K)v Ja 57

NCELCH
et rfemt &7 AET O o) FETE ¢) HBIdeEmT d) Fafye
a) Bfyrer ®)
i ?

What is Stapoo b) A folk dance c? A children’s game d) A folk instrument
a) A folk song
Ry d b)ﬁaw o) Bfemt &t dw d) 3a AR

8) B IS
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17.

19.

20.

21.

22.

23,

Where is the biggest art gallery of Punjab located ?

i Patiala .

Q Amritsar b) Ludhiana J")/ d) Faridkot
et g T 2 e et [ 2
) T b) BfwHET ) ulenrs d) sdftede
Which musical instrument is used by Dhadies, who sing traditional ballads of brave warriors
and heroes drawn from Sikh History ?
a) Kato k) Dhad c) Algoza d) Bugdu
eyt <5 gafgn e 28T G0 faaaT A3 A 3, fam § €7 fity fefoam few firme
agreg Gfot w3 rfeat oF gerfed! AA-ATTes A9 AN TWIT 75 9
a) 2 b) €F C) MEBIAT d) gerg
Which of the following pairs is NOT correct ?
a) Ram Tirath : Amritsar ¢) Hanuman Mandir : Ludhiana
b) Sodal Mandir : Jalandhar d) Panch Mandir : Kapurthala
fegt fes" faoaT Ayg At &3t ?
a) I Jt99 : ST ¢c) IGHS Hfeq : sfpwrsr
b) AS® Hfeq : A8Uq d) 9 ¥feT : qyaasT
‘Aarsi’ is an ornament of which part of body ?
) Head b) Hand ¢) Foot d) Ear
™ToHT Adtg © o iar e arfaer 3 2
a) fAe b) I° c) U9 d) &=
Which was the first newspaper to be published in India ?
a) Bombay Samachar  b) Bengal Gazette £) Bengal Chronicle  d) The Hindu
m\ﬁqﬂygmmﬁinu@aﬁ 9
& & mreg b) s Ire o) TS TEEE  d) & g
The instrument used for recordiﬂg earthquake waves is :
3) barometer b) hydrograph ¢) pantograph d) seismograph
Tmﬁﬁmmwmmwmﬁ ?
a) HoHieg

b) T¥tgare ¢) YT d) frmiere
Lakshadweep is a group of how many islands 9
a) 22

by 25 c) 32 d) 36
BARENY f&& anpyt o YT 2
a) 22

b) 25 ¢) 32 d) 36
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28.

29,

Stparation of the JUdici .
oY from the Executive is enjoined by :

g) Preamble Ny
AT TR 3 ) Directive Principle o) Seventh Schedule  d) Judicial decision
5) YIS & WS qo o gav faw few atgr famr 3 ¢

®) Tedufer fratg o) FIt M-ER ) g fafos

Which of the followinQ _
. -~ C&l’]nor . wlo i v ?
2) Disputes between ty be filed directly in the Supreme Court

Ao . Or more St

Cases again R ates
E)) It one':g;)ro;;:(:ci??;i?gm on Fundamental Rights
d) Both (a) and (b) ully Occupied by the other

A) B2 (a) M2 (b)
A Scheduled Bank is one which is included in the :
a) l Schedule of Banking Regulation Act ¢) Il Schedule of Reserve Bank of India Act
b) Il Schedule of Constitution d) None of these
"HIeS 89 €T T fros I fefimt fog mriis 3 2
a) ST fowni Rare o gt wigmer c) 3793t farge ¥ Nae &t gt migpet
b) AfeTs €t gwt migmat d) fegt feg ot &at
Who is the originator of “Green Revolution” in India ?
a) Norman E. Borlaug #J MS Swaminathan ¢) Garry Backer d) Manmohan Singh

993 feu “g9 fesama &t Fous fan & &1t ¢
a) 394 €. §g8™  b) MHAN. FRHIS®S  ¢) diet Qa9 d) HaHgs iy

A Geostationary satellite :

a) revolves about the polar axis .
b) has a time period less than that of the near earth satellite

¢) moves faster than a near earth satellite
d) is stationary in the space

fear fr@memaat Quarfa :3
%9 gat g UHeET J |
o) T mwelalt Qualfy &7 I 5T T |
d) AR feg Afgg J1
C e with defective kidneys. It involves the process of :
i))la::sns 1s.usecl for peop ) osmosis ¢) electrophoresis /d{ diffusion
o e g 578 IS 821 U1 e 31 few o 3 oo
’:)""‘“ ol 1y A o fedmai®im ) dwe et o
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30.

3l

33.

34.

3s.

36.

Which one of the following day 18 observed as the World Environment Day ?

28" Feb b) 4" March _¢) 5" June d) 16" September
a) 28" February 4 | ‘
%wwm@mmwwﬁwﬂwwwm

a) 28 T b) 4 HJ9 ¢) SYs dy 16 fAg=d

rved in India as :

) National Youth Day
d) World Religious Day

Swami Vivekananda's Birthday 18 obse

a) All Saints Day
b) Hindu Renaissance Day

g feg menit fedarde or AaH fas Harfen Ater d

a) R Ag feem @ 39 3 ¢) a'ﬂ-waE?H@'?{g
b) iy ysowa feen e 393 d) fenz uafia feeme 392
The audible frequency range of human ear is :
a) 20 Hertz to 200 Hertz c¢) 200 Hertz to 2000 Hertz
b) 2 Hertz to 20 Hertz d) 20 Hertz to 20000 Hertz
WSt F&t S mreTT wrETaaT AT
a) 20 gdeH 3 200 IIeH ¢) 200 IdeH 3 2000 IdeH
b) 2 Ivgew 3 20 IIeH d) 20 IFeH 3 20000 IJICH
Two smallest continent of the world are :
) Australia and Antarctica c¢) Australia and Europe
b) Antarctica and Europe d) Australia and South America
feres @ S e T S HulEv I 7
a) M M3 wieaafear c) MACEMHT W3 Fau
b) Weaafear d) "B w3 ArgE mudiar
Amnesty International is a :
a) Human Rights group c) refugee camp in Croatia
DY UN agency to fight global terrorism d) wing of the World Bank
USRS RReadraw T
a) Wg Yt »ifaars AyT ¢) qeem feu maaTast ¥y

b) IBIE M ITE &8 BFS TH fuw T gHed Mt d) feme ¥ o feq mryr

Who invented Black Box Flight Recorder ?

2) Robert Stephenson  b) John Shorthand ¢) David Warren d) David Robinson
¥3d §T9H TBEIE foaaw o B fa R St 2

a) T'HC HETEHS b) T s o) Sfew T35 d) 3few vfumms

Recently which country’s Pregig, “Grand Collar of the State™ (Hi
on PM Narendra Modi ? ont has conferred “Gran (Highest Award)

_»Y Palestine b) Oman ¢) Bahrain d) Turkey

T J 1 R W @ THER & s iy afve e § T @ SR wEe (-
MEI®) 5B U g § R §e

1) USHAS b) s o) wfdts d) Tt
Page- 6 : | Paperlil | (Set-A)
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40.

—_—

42,

43,

41.

,\cwrding to the latest
.'\()]7 18

Worlq
We . o
Calth report, India’s ranking in the list of wealthiest countries in

A h

Yo

Which actor played the role of Ryp:
ni

o) Priyanka Chopra

e o3 g fay ) Sonam Kapoor  g)/Deepika Padukone d) Katrina Kaif

) fprer Su=T % 3 IS yewreat o g fagmet 7

e ") v o) S ugds  d) FedteT AT

Padmavati in the film ‘Padmavat’ ?

_4) Teen Murti Jaffa Chowk

o H M h k
) Toon MurtSafed Chowi O e e o oo
o feal hgj”'é_'_a"f?ﬁ(iconic) 5 yodt S5 v & gew & e famm 3
NEGYEEIGEAET | o Tt S
b) 915 4 AT ¥ =

d) Sts yat orfeeT 9
Who has been honoured with the 2018 Sahitya Akademi Bhasha Samman Award ?
a) Niranjan Sharma b) Shesh Anand Madhukar c¢) R Sankamarayan d) Anjum S Majumdar

35 fafint {8 fam § 2018 @ wivgw nmravt s Faws ne9s 578 AaHTag ST famr
g7

2) fSOVE HOMT  b) BEWMSENTEd o) W FaWEes d) W RH. HgHeS
Currently which among the following Indian cities figure in top five UN clean city list ?
a) Kovalam )’j Alappuzha ¢) Kannur d) Munnar
fag aHed & Um Ag & <0 Ae-1Ed Afus’ € gt few fagar gvadt rfog g2-92 wis
Jfewr 3 ? “
a) d=BN b) MEYHT c) ogd d) H&
The train ‘Thar Link Express’ runs between :
a) Jaipur & Jodhpur (b)/fodhpur & Karachi ¢) Amritsar & Lahore d) Amritsar & Jaipur
5 gBt T ?

T fber A 3 farad Hfgt [S9T 98T ¢ .

- Fad  ¢) WMHSAET M3 BT d) wiH3HT w3 AT
2) g w3 Fgug  b) AUYT g ) Y

Jaunched DASTAK campaign to eradicate deadly Acute

: s » :
Which state government ha d Japanese Encephalitis (JE) disease leading to death of small

Encephalitis Syndrome (AES) an
children ?

h ¢) Andhra Pradesh d) Himachal Pradesh
Uttar Pradesh  b) Mad

o3 w3 e ereE i faan w3 s faresetfen

favt g maa® O é‘-)}ga‘mﬁ, 3 ¥3H 335 Bt eNIE (DASTAK) & @

fowrdt, fa o 82 BT

Y gg st 3 7 ¢) whaar yew d) fnres yow
2) @39 y@n b) W 4¥

o —= 7 1 Panerill | (Set-A)



44, “Me Too” campaign is linked with :

i read prevalence of sexual asg
a) Help stop the widesprea Ssault and pap
rassment against women

especially in workplace
girls and boys

(_)b/Zero disabilities in '
c) Atrocities by women against women

d) Movement against female foeticide

“)-ﬁ;”)jﬁ'ﬂﬁﬁfﬂ?ﬁ:
2 w39 7 a8t g §F et fea T e DE w3 ywat & f g 3
few Hee B&

b)@Fﬂ'TWnéErf‘avfff%Hm%n{wfaW
c)n?asffeg‘un?aafwnﬁw

d) wrer gge Ifamr € fedu yidn
45.  Who has won the Men’s Singles title in the Australian Open 2018 ?
a) Marlin Cilic b) Novak Djykovic  c¢) Rafael Nadal /l)' Roger Federer
2018 & WREEMT G 2018 T yan fRas & fugmy fan 3 fafanr 3 ¢
a) Haf®s Afsa b) &= INATeA c) 3B 5T d) 79 3T

46. 3:53 s:;{lsar)é ;goan tehmployee of a company increases every month by 4%. If his salary in August
et . , then what would be his approximate salary in month of October of the same

a) Rs. 6552 b) Rs. 6967 wﬁs. 6814 d) Rs. 6627

fe'T quat @ fear aovaTst & Iaww 9o HatS 4 yFiRe T I, Ha@ X €t 35T MIAT
<9 6300 JuUE I= 3* 8F A'® wagee & WAt B & SauTe faat I=3T 7

a) 6552 gu¥ b) 6967 guE c) 6814 Ju¥ d) 6627 gu¥

47. A merchant has 1000 k.
_ g of sugar, part of which he sells at 8% profit and the rest at 189
He gains 14% on the whole. The quantity sold at 18% profit is :P oI proflt

500
a) 500 kg b) 600 kg c) 400 kg d) 640 kg

? W@iﬁl&hﬁg’?ma,m@@ﬁwﬁsmmﬁwaw
‘mﬂ's’\ : S | 8% & At 5 . J
- S G 14 e T

a) 500 fa@arH % 3
) bY 600 farBapy ¢) 400 fa@aH d) 640 farda
48, A seller marks his goods 309
- / i 1 i *
His percentage of profit when f:iﬁvii tcl;la?; °f§s.t price but allows 15% discount for cash payment.
Q ’ '
a) 10.5% b) 15% ¢) 9% d) 8.5%
fea fedz s Y & sickt &ae
H‘Ea‘w@mg&m”@m@wmiw g @3

15 ydma ge
10.5% feer 31 & 3 29z g3 g BT FRI T
R15% T % d) 8.5%



49.

50.

51

53.

= R T T

34,

A principal amountg ¢,

: X Rs. 944
the same simple Interest 44 In 3 years and to Rs. 1040 in § years, each sum being invested at

a) Rs. 750 © Principal wag -
o W T b) Rs. 800 ¢) Rs. 850 d) Rs. 900
guéfmia’tmngmia' gﬁ'ﬁ’ﬁaﬂ?m? 3 Avst {29 944 gue w3 5 At few 1040
a) 750 FUE ' .

00 gug ¢) 850 JuE d) 900 FuB

A cat takes 5 leaps for eve
cat. What is the ratiq of th

a) 11:15

ery 4 leaps of 4 dog but 3 leaps of the dog were equal to 4 leaps of the
Speeds of the cat to that of the dog ?

b) 15: 1] ¢) 16:13 d) 15:16
3 ﬁmwagﬂqwmyﬁma,wgﬁamwa

?lﬁsémwéwalﬁb@wﬁmmmﬁ?
' b) 15: 11 c)16: 13 d)15:16

tio betw
'II'hde ,r: ;06 Wi“e:nzthe present ages of Indu and Gurpreet is 3 : 8, respectively. After 8 years,
ndu’s ag € 20 years. What wag Gurpreet’s age 5 years ago ?

a) 37 years )5/27 years c) 28 years d) 38 years

ﬁgm@:@mﬂ?%ﬁﬁwg}ﬁfﬁwmszsm%wﬂwﬁgﬁ%mm
3291 07 A8 Uit Jais & Qe st it 7

a) 37 A® b) 27 A& c) 28 A& d) 38 F'E

Men, women and children are employed to do a work in the proportion of 3:2:1 and their wages

as 5:3:2. When 90 men are employed, total daily wages of all amounts to Rs. 10350. Find the
daily wages of one man.

a) Rs. 45 b) Rs. 57.5 ¢) Rs. 115 d) Rs. 75

waut, wlagt w3 ot § 3:2:1 | migay 99 & 395 ! fagas s ater I w3 €57 &
IFUT 5:3:2 & wiurg f2U I, g 90 HEEt § fowas disr AR 3t Afont € 5 IET
10350 Fu® gt 31 fe woe & TAeT IEUTJ 7

2) 45 guB b) 57.5 JUE c) 115 gug dy 75 gu¥

el 80 km in 8 hours, partly by foot and partly on a bicycle. If his speed on
on bicycle 16 km/hour, what distance would he travel on foot ?

b) 30 km c) 48km d) 60 km

, g 3 yeg & 99 7T JE® w3 g fowr wiefas &% 8 wfewt fes
3:5 eﬁgfmw@mwsmmwwwmaw 16

ET =

mm@wa@?@mw@wm%m fas view
) 20 fr vieg 0BT )4 4 o0
a
of a train is 150 km/hour and with stoppages, it is 100 km/hour.

A man decides to trav
foot is 8 km/hour and

a) 20 km

Without stoppages: the speed in stop ?
How many minutes does the 8 . ,
by 1 5 minutes ¢) 25 minutes d) 45 minutes
o (50 far® Hiew Yt e 3 wid mewet §°3 garfet Sfenet Gw
R at ot a1t 10 oy 7 ot S e e
et 100 fard view ¥t 15 ¢) 28 fire d) 45 firz

2) 20 fivre page-© :Paperdll | (setA)

a) 20 minutes



question figures bears certain relationship to the first.
lationship to the first figure of the second part. You
figures which would replace the question mark (?)-

i fi
55. The second figure m the :
Similarly, one of the figure bears the same re

er
have to select a figure from the set of answ

~fg@a@uh@fa%amfeawﬁéu&nfeﬁaqun%ﬁfﬁ

s fogar @ ufod R feo & AR y
mﬁawggﬁwmmm@wmfevfa?awhwfamw
few fd s i (0§ 7e8 9% |
Question Figures r
Tl ?
ANV |
(a) (&) () 10
56. Find the odd word from the given alternatives :
a) Barter b) Purchase c¢) Sale d) Carter
a) ¥'9<d (Barter) b) UdEH (Purchase) ¢) A& (Sale) d) I7d<d (Carter)

57.  Find out the number of people who do not play any game.

Js &3 o viafanrt feS' @ Bat & ffinr & frod 31 St v st gwe

@e O @ e
s8. Evaluate the sale of number of books by a book seller in the year 2018 from the given datg
Year 204 [ 2015 | 2016 | 2017 | 2018 |
Number of Books 1150 1115 1045 940 ?
a) 905 b) 870 c) 835 d) 800
fe%aeﬂawwﬂwmmfwfaamfawmmmam
AL CRC] | <
s 2014 2015 2016
2007 | 2018 ]
11
yraat et faedt 0 | 115 | 1045 | 940 >
) 905 b) 870 ) 835 d) 800

Pege- 10 | Paperil } (gat.a)
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50, In the following question. ol . . ,
' . i ® ' y thoose the correct mirror image from alternative: \
ol the Figure (A). orrec ® es (a), (b), (¢), and (d)

Je s few e ane fegwyl (@), by, ey nd () fard® Fg'aa (A) & st e i
(Mirror image) §& for 49

A (a) ®) (0) ()

00.  Find the wrong number in tho series :

125,126, 124, 127, 123, 129

a) 126 b) 124 ¢) 123 d) 129

fe'dt areht wat fa o dwg &

125, 126, 124, 127, 123, 129

) 126 b) 124 ¢) 123 d) 129
61.  For creating a document, youuse __ command at file menu in MS word.

a) Open b) Close ¢) New d) Save

fe'q saNe ve@e set gt Am. Tep e e g few e e fewavms

qae &

a) Open b) Close ¢) New d) Save
62. A directory within a directory is called a :

a) mini directory b) junior directory ¢) part directory d) sub directory

fex grfedaedt ot feus? fex srfedaedt § fagrater 3 7
a) first srfedaedt b) Fatma Frfedaedt ¢) ude sfeddedt  d) WY srfeddedt

63. Deleted data remains in the disk until :

a) the data is overwritten ¢) a file compression utility is used
b) the disk is scanned v all of these

firzrfemr fapr BT et ferd few €€ I afder 9, /e I
a) BT Gg-grete a9 AteT I ¢) fexr Tetw Ages Gargr ot 93 @St At 3
A b) fera A st At & d) Quiag A

; 64.  Which of the following groups consist of only input devices ?
2 a) Mouse, Keyboard, Monitor ¢) Mouse, Keyboard, Plotter
= b) Mouse, Keyboard, Printer d) Mouse, Keyboard, Scanner
: 5 e myurt e fram g T ey farfon 7 A 3 7
a) WA, &1-89W, Hated o) W, -T9w, BT
b) HT?H' ﬁ-mt fqza d) HTQW, m‘m, Hﬂm
®
65.  The name a user assigns to a document is called a:
a) filename b) program ¢) record ¢ data
mmmmmmﬁﬁmwﬁwsmm;
a) TTENE AW b) Jag™ ¢) foumaw d) BT

Page- 11 ;[ Paper-lll | {Set-A)



66.

67.

68.

69.

70.

71.

72.

73.

The function of CPU is to :

a) provide external storage of text

communicate with the operator , o
—f)j read, interpret and process tl'le mformatIOH & lllblrucll()ll

d) provide a hard copy

Aty erand:

a) mammmm

b) Sudes 578 AYT IIGT

o) AvEaTdt w3 frerest § ugsT, fefmm T w3 yfafonr gaa
d) 9797 Tyt HOEHT J3&T

To move to the beginning of a line of text, press the _______ keyinMS word.

a) PageUp b) End ) Home d) Enter
dame ot foq mrete o ggs €3 IS BE, M. TIT e few gl (key) ©HET
Higt 37

a) Ua-my b) WF c) IH d) Weg
Which of the following is NOT hardware of a computer ?

a) monitor b) keyboard ¢) windows d) CPU

U3 fafunrt feg fauar dfufes e oog-ana a1 & 7

a) Haleg b) S-§3& OREEL] d) Atutg.

A web site’s main page is called its :

a) Home page b) Browser Page ¢) Search Page d) Bookmark
feaSTardle e vy im g @n e faor wier 3
) I U b) I8 UF c) A9 U d) 59 Haa
Which among the following is not the web browser ?

a) Opera b) Netscape ¢) Mozilla d) Google
I5 faft fe faoat So-g8ma ot § 7

a) Gl & ey ¢) VifrsT d) TS
“H8t dfent € ustdt 3 et femm faor 37| e fow faoaT ste adt 3 0

a) W&} b) yaT ¢) Ut oy fewa
BTG TII YTET RIS 3\ 7 e wrarya w3 s 57 farw < 57 AES T% 0
a) MY &5'€, YN T9Y ST L& U &=, M &

b) ¥ &te, fea's Tua st d) 4T &tE, THF TR 3T
“fewr” I5 fefant 1o fan Rt avs Afag gae 3 2

a) 97 €95 + fEHEB? fdﬂr M/éa FIS ¢ yfﬁ’dT

b) 57 =95 « yfda d) fewadt féar - fex @95

Page- 12 : [ Paper-lll ] (Set-A)




2) W T3 Tt st e 32
b & c) €5 @y g w3 QT T
75, “IHT MU foT mrgr 51 o
wm%”lwfav“gﬁ”mﬁnmmﬁ
a)Wlﬁ?ﬂg+ “ . )
b) YIURTIE Ut | mfawemmuau
gy d) feg fed qet &at
- H’z’“
i 76. faaaT 4 mmg&mﬁya
3,8 _
: 9 b) "R, ¥ ¢), AT, Rt g, Jar
. mmma%wmm R P —.
e o v 3 7 % g o fenne v o <t odv 75, BI5t § fagar
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Read each sentence 10 find out the error in it. The error will be in one
irecti . Nos. 86 - 87): Rea . is the answer.
Dz::teg? t(;:;ssggtence The alphabet number of that part o
P o WM the fence when he tore his shirt.
86. Vishnu was( t;vmg topass IO ®) (©) (d
a
. the electric heater when it catches fire and she got a shock.

87. Foolishly, Meena threw go_mg&&tﬂ—(%f’—'—’—‘é__ © ()

(@)

Directions (Q. Nos. 88 - 89): Which of the following phrases; (a), (b), (c) and (d) given below each

sentence should replace the underlined hrase to make the sentence grammatically correct ?

88 The driver didn’t accede at the demand of the people as he was aware of the risk involved in it.
. .
c¢) was not acceded by the demand

a) was not accede at the demand a0
b) didn’t accede at demanding d) didn’t accede to the dem@"d

t lose his temper.

¢) had severely criticised
d) had severe criticised

89. Though his actions &&Mﬂﬁ’ﬁsﬂ—“ he didn’

a) were severely criticised
b) were at severely criticising

Directions(Q. Nos. 90 - 91): Each of the following sentences has a blank space and four choices (a),
(b), (c) & (Jd) given after the sentence. Select the choice you consider most appropriate for the blank

space.
90. Do you know

a) where she comes from c) where from she comes
b) where does she come from @) from where she come
91. The family gave father a gold watch on the of his fiftieth birthday.
a) time b) fall ¢) occasion .,d’)/’ celebration

Directions (Q. No. 92-93): In the following questions four words are given, out of which only one
word is correctly spelt. Find the correctly spelt word.

92. 2) massacar b) masacre ¢) messacre d) massacre
93. a) exempleary b) embarass ¢) envious d)y excelence

Directions (Q. Nos. 94 - 95): Select the pair of words, identical to the pair given in question.
94, GENUINE : SIMULATED : : UNAFFECTED : ?

a) Elevated b) Bombastic ¢) Dynamic d) Destructive
95. ACTOR : STAGE :: ? : ROSTRUM
a) Pilot b) Acrobat _x&jf Soldier d) Orator

Directions (Q. Nos. 96 - 97): For each underlined in the sentence, four words / phrases .
below. Choose the word nearest in meaning ton::‘ee é‘?ﬂmﬂm in the sentence. o listed

96. In Spite of the best efforts the officer could not redeem his prostlge

a) recover b) raise )r)/extend d) fulfil
97.  There is abundant supply of water for the crops.
a) considerable Y plentiful ¢) adequate d) sufficient
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Directions (Q. Nos. 98 - 99): [ the
which best conveys the meaning of ¢

98.  On the spur of the moment -

th!l",Wlng questions, out of the given alternatives, choose the one
¢ idioms/phrases.

a) Atonce or without any kind of deliberation

b) In accordance with the prevailing style ¢) Open to blame

d) On the side of something undesirable

99. To snap one’s finger at :

a) :l;‘o malnt;llln f;'lendship ¢) To continue doing anything
«bY To give the challenge d) To stay away from something

Direction (Q. No. 100): Choose the word which is opposite in meaning as the given word.
100. Confess

a) grant b) conceal ¢) concede d) acknowledge
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